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s JJaf Poy => ¥x (PO A=T1R(9,30) =+ (5, 20]] Turp. 2

e P(5) =¥ [ (PO A 7R(9,m)) =2~ H(5,¥)] UT, (e, s
26 ¥x [(PooaaR9,x)) == Hig,x)] =E ¢, 11

2 (P> A =R (9,2)) = = H(9,20) UT, 2o, 3

22 1 H (g, = B, 13,2

23 P(y) => = H(y,n) =T, 622
24 Yo (Ply) = ﬂH(‘),?l)) ubD

35| [P A ¥z (P(2) = 2 Rim,2)]|=> ¥4 (Plo) => 7 Hg,2)) ST -2
20 | ML PO) A¥2(P2) 2= R(zy 2) 1 ¥y (P(o) =2=1H(3,20)§ D




4. A/freal 3havcs 4// 4»(0( on(y 7%0_52 /'néaé/'?lnu'(s a‘F Bcrke/e/
‘who do wot shave thewselves, Alfred /s an Sphabitant
of Btrkcfcy. 7Zcrf1lorc, Alfred docs uot shave bwise [f .
(F,9 0w an (whabitant of vi SCu,0): « shaves v,
.4-',4lfr<o()- b Berke/ey.) )

[
—

, Yo ( F(o,b) = (S(a,-x) & "’5(717‘)))
2 .F(Q;b) /2 1 S(a,a)

3 | S(aya) /oo L

b | Fta,b) =5 (S(a,a) @ =1 S (a,a)) UT, |
5 S(a,a) & = S (a,a)

* -1 S(a,a)

v

s

, A
1 S(a,a)

¢ ,/4“ Cars arc u:e-(u(- Tt\erf-":orc)evev;goue wtw l'tM acar hes
..Somc*'\'\.\\v\.s U-S‘C{—K(. (P(“.)" U 4 ““"'j Q(a): uulu:c{u(j
R w5 a p{r.«.m«..‘;,._,,_s,{ “y W) & eg ) Bowan : all objects .

| ¥ (P = ae) oyt (RIS Chom) n PE))
2w Y = Fa(@@48(y,2)]
3 e ) -
4 (Rip)a SC20) A Plx) [ o (Q(2) 4 S, 2)
s P(”) . , A E ) ¥
. Yo (P) = Q) Twpl
¥ | P = aex) Uz, ¢, 3
5 R(9) A $(9,29) AE, 4
1 Sy, ) | AE, &
h &) =E, 5%
" QY A S(5,2) AL, 1 1b
n Fa( AW A Sy, ) Ee, Nl
3 T2 (Q(2) A S(y,2)) RDV, 12 |
T (Riw> A Sto,2)) 4 P(¥) =2 F2(6() 4 S(o,2))  =>T 4~13
51 ¥R AS(5,0) A Plr) =>Tz(Q@ aSts,2)]  uD
161 ¥y ¥ LR AS(90) 4 P) =T 2(6 () AS(5,2))] 0D




